


TECHNICAL DATA

L(BSP) L(BSP) p
!/_ ‘_/_ 'K Thds. | | M 4 Nos.
i = o] [
iy gl /_ .
1 H 1 n M 1
- = -- \ == —l_g J @- @-
o ~ _— _ B N ___||,_ ] B .
[vaN]l
I 1
C A+ STROKE \_ D | E .E, H
[ [ ! .
B + STROKE £
BORE i
ModelNo. | piMENSION | A B c D E F G H J K L DIA| P M
H-25-XXXX 25 mm 55 155 25 25 15 60 10 25 16 M12x1.25 1/4" BSP 45 30 M8
H40XXXX | 40mm | 60 | 160 | 25 | 25 | 156 | 70 | 15 | 25 | 20 | Misxi5 14 BSP | 55 | 495 M8
H-50-XXXX 50 mm 65 180 30 30 15 80 15 30 25 M20X1.5 1/4" BSP 65 56 M10
H-65XXXX | 65mm | 65 | 190 | 30 | 30 | 20 | 90 | 20 | 35 | 36 M24%2 38" BSP | 75 | 66 | M12X1.75
H-80-XXXX 80 mm 70 205 35 35 20 110 20 35 36 M24X2 3/8" BSP 85 84.5 M16X2
H-100-XXXX | 100mm | 85 | 230 | 40 | 40 | 30 | 135 | 22 | 45 | 45 M36X2 1/2'BSP | 100 | 105 | M20X2.5
H-125-XXXX 125 mm 105 280 45 45 50 165 25 50 60 M40X2 3/4"BSP 115 126 M24X3
H-150-XXXX | 150mm | 110 | 325 | 50 | 50 | 50 | 190 | 25 | 60 | 70 M48X3 34"BSP | 125 | 150 | M24x3
H-200-XXXX | 200mm | 120 | 365 | 50 | 50 | 60 | 260 | 25 | 75 | @0 M75X3 1"BSP | 165 | 200 | M30X3
P o Wl Wt j—
A = mu il
- i
I (e | _
PR . M, T c | A+ STROKE . b |E ‘G H
‘ B + STROKE t
MODEL NO BORE | »lB|c|D|E|F|lG|H|J]| K L 'lp{N|O|s|T|m
- |DiMENSION DIA
H-4000PM | 40mm | 60 [160| 25 | 25 | 15 | 70 | 15 | 25 | 22 |M16X1.5/1/4"BSP| 60 | 20 | 15 | 112| 18 | 30 | 20
H-50-XXXX-PM | 50mm | 65 |180| 30 | 30 | 15 | 80 | 15 | 30 | 25 |M20X1.5|1/4"BSP| 65 | 30 | 20 | 120| 22 | 36 | 25
H-65-XXXX-PM | 65mm | 65 |190| 30 | 30 | 20 | 90 | 20 | 35 | 36 | M24X2 |3/8"BSP| 75 | 30 | 20 | 130| 22 | 36 | 25
H-80-XXXX-PM | 80mm | 70 |205| 35 | 35 | 20 | 110| 20 | 35 | 36 | M24x2 |3/8"BSP| 85 | 40 | 25 | 158| 28 | 43 | 30
H-100-XXXX-PM | 100 mm | 85 |230| 40 | 40 | 30 |135| 22 | 45 | 45 | M36x2 | 1/2BSP| 100 50 | 35 | 228] 40 | 62 | 40
H-125-XXXX-PM | 125 mm | 110 | 280 | 45 | 45 | 50 | 165| 25 | 50 | 60 | M40X2 | 3/4BSP| 115 | 60 | 45 | 280] 50 | 72 | 50
H-150-XXXX-PM | 150 mm | 130 |325| 50 | 50 | 50 [190] 25 | 60 | 70 | m48x3 [314"BSP| 125 65 | 50 [ 306] 55 | 85 | 55



FRONT/ BACK FLANGE MOUNTING

| o ‘ L(BSP)
| ! | /
ST i |
MO | Oy =H—F —
‘.&. N’ Dia c A+ STROKE Lo |E ‘f. H,
Q 4 off for Mounting ! B + STROKE I 1
BORE I
MODEL NO. DIMENSION A B Cc D E F G H J K L DIA o] N Q P
H-40-XXXX-FFIBF | 40 mm | 60 |160| 25 | 25 | 15 | 70 | 15 | 25 | 22 | M16X1.5|1/4"BSP| 60 | 110| 11 | 90 | 50
H-50-XXXX-FF/BF | 50mm | 65 |[180| 30 [ 30 | 15 | 80 | 15 | 30 | 25 | M20x1.5| 14" BSP| 65 | 130| 11 [109]| 56
H-65-XXXX-FF/BF | 65mm | 65 [190| 30 [ 30 | 20 [ 90 | 20 | 35 | 36 | M24X2 |3/8"BSP| 75 |150| 13 |121| 65
H-80-XXXX-FF/IBF | 80mm | 70 |205| 35 | 35| 20 |110| 20 | 35 | 36 | M24X2 | 3/8"BSP| 85 |190| 16 [150| 75
H-100-XXXX-FF/BF| 100 mm | 85 [230| 40 | 40 | 30 |135| 22 | 45 | 45 | m3sx2 | 1/2"BSP | 100|210| 21 [ 164 85
H-125-XXXX-FF/BF| 125 mm | 110|280 | 45 | 45 | 50 [165| 25 | 50 | 60 | M40X2 | 3/4"BSP | 115|250 21 | 207 | 115
H-150-XXXX-FF/BF| 150 mm [130|325| 50 | 50 | 50 [190| 25 | 60 | 70 | masx3 |3/4"BSP|125|280| 26 |225] 140
L(8sP)
v
EE T
o J W ' ‘ .
| N’ Dia c | A+ STROKE D E|G H
‘ £ | 4 offfor Mounting ' B + STROKE &
mopeLNo. | BRE | A B |l c|D|E|F|G|H|J K L ' Nn|o|P|R
| DIMENSION DIA
H-40-XXXX-FM 40 mm | 60 [160| 25 | 25 | 15 |70 15 | 256 | 22 | M16X1.5|1/4"BSP| 60 | 11 | 90 | 116 | 15
H-50-XXXX-FM 50mm | 65 |180| 30 | 30 | 15 |80 15 | 30 | 25 | M20X1.5|1/4"BSP| 65 | 11 [109|120| 20
H-65-XXXX-FM 65mm | 65 | 190 30 | 30 | 20 (90 20 | 35 | 36 | M24X2 | 3/8"BSP| 75 | 11 [121|130| 25
H-80-XXXX-FM 80mm | 70 |205| 35 | 35 | 20 (110 ]| 20 | 35 | 36 | M24X2 | 3/8"BSP| 85 | 13 |150|170| 25
H-100-XXXX-FM 100 mm 85 [230| 40 | 40 | 30 [135]| 22 | 45 | 45 | M36X2 | 1/2"BSP | 100| 22 | 164 |210| 30
H-125-XXXX-FM 125 mm 110|280 | 45 | 45 | 50 [165| 25 | 50 | 60 | M40X2 | 3/4"BSP | 115 | 26 | 207 | 270 | 40
H-150-XXXX-FM| 150 mm{ 130[325| 50 | 50 | 50 [190] 25 | 60 | 70 | M48x3 |3/4"BSP|125]| 26 | 225|280 40

CENTRE TRUNION

MOUNTING

! /—L(BSP)

i s
s T o
_EE_ L i )
N c A+STRDKE|_ D E |G H
e R } B‘S'lI'ROKE
S
MODEL NO. | BORE | A | B |c|D|E|[F |G |H|J K L ol P M| N|s
H-40-XXXX-TM| 40mm | 60 |160| 25 | 25 | 15 | 70 | 15 | 25 | 22 |M16X1.5|1/4"BSP| 60 | 40 | 30 | 30 | 40
H-50-XXXX-TM| 50 mm | 65 | 180| 30 | 30 | 15 | 80 | 15 | 30 | 25 |M20X1.5|1/4"BSP| 65 | 50 | 35 | 35 | 50
H-65-XXXX-TM| 65mm | 65 |190]| 30 | 30 | 20 | 90 | 20 | 35 | 36 | M24x2 |/8"BSP| 75 | 50 | 35 | 35 | 50
H-80-XXXX-TM| 80 mm | 70 | 205| 35 | 35 | 20 | 110| 20 | 35 | 36 | M24x2 |3/8"BSP| 85 | 60 | 45 | 45 | 60
H-100-XXXX-TM| 100 mm | 85 | 230| 40 | 40 | 30 | 135| 22 | 45 | 45 | M36X2 | 1/2"BSP | 100 | 60 | 45 | 45 | 60
H-125-XXXX-TM| 125 mm | 110 | 280 | 45 | 45 | 50 | 165| 25 | 50 | 60 | M40X2 | 3/4'BSP | 115 | 67 | 45 | 45 | 67
H-150-XXXX-TM| 150 mm | 130 | 325 | 50 | 50 | 50 | 190| 25 | 60 | 70 | M48X3 |3/4" BSP| 125 85 | 50 | 50 | 85

Note : - Dimensions are subject to change without notice.

- xxxx stands for stroke of cylinder in mm.



© For operation of Hydraulic Presses, Jacks & Clamps.

© For Hydrostatic Pressure testing.

© Available Working Pressure from 0 to 300 kgf/cm?.
o Available Flow from 1 to 150 Itrs/min.
o Tailor made as per requirement of industry.
Our Other Products
Pneumatic Press Hydraulic Press
Hydro Pneumatic Press (Special ) Pipe Flaring Machine 3

TEL: +91-2221641896, 21645737, Mob.: +91-9594451155
Email: info@honeytech.in  « Website: www.honeytech.in



	Page 1
	Page 2
	Page 3
	Page 4

